SERPAC

Electronic Enclosures

1342S

4.00 INSIDE

BOTTOM HEIGHT

ZZZ

__ff

A}

- 7.98 MINIMUM

—+

INSIDE LENGTH

Cl

A 81 INSIDE
= TOP HEIGHT
s . N
(l l}
! +
[
B
[
| !
T - - =1 9.98 8.26 MAXIMUM
| .25 INSIDE LENGTH
| ! BOSSES
: |
[
L S
- - - B 4
N i,
13 : &)
< S 7 |
A L 25
8.25 BOSSES 2 Mounting Brackets included, see
sheet 2 for dimensions and for optional
mounting Corner Feet and Brackets.
10.16 MAXIMUM
INSIDE WIDTH
< N
5.13 5.46
CASE OVERALL
HEIGHT HEIGHT
E 1 1 H
= FOR #10 44 BOSSJ 7 ER7)
SELF TAPPING SCREW HEIGHT SECTION
9.88 MINIMUM
INSIDE WIDTH B-B

P

Bottom heigh-t-

SECTION
A-A

4.00

Aluminum and Plastic Panel Kits are
available as options, see sheets 3-6.
The aluminum panel options are:
Bottom Panel Kit p/n 72008

Top Panel Kit p/n 7200T

Hinged Panel Kit p/n 7200TH

The plastic panel option is:

Hinged Panel Kit p/n 7200HP

-Material: UV stabilized Polycarbonate
Flammability UL 94 V-0

-Watertight enclosure meets or
exceed Nema 4 and or IP67.

PARTS INCLUDED
P/N | Qty. Description
1352ST| 1 1352 Screws Top
13408B| 1 1340 Screws Bottom
8350 1 350 Perimeter O-ring
1305 2 Mounting Bracket
6028 4 SS #10 X 5/8" Pan H/L
6031 4 #10-32 X 1" Screw
6104 4 10-32 Threaded inserts
8001 4 O-Ring for Screw

2/24/2020
2009 Wright Ave. La Verne, CA 91750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




Electronic Enclosures

SERPAC 135271342 Mounting Bracket Dimensions

11.62
4X ©.29 FOR
/ 1/4" SCREW
O INCLUDED STANDARD
MOUNTING BRACKETS
PARTS INCLUDED
P/N Qty. Description
1305 2 Mounting Bracket
TOP REMOVED FOR CLARITY 7-8(()3 6.00 6028 4 SS#10 X 5/8" Pan Combo H/L Screw
FLANGE — - - |
FROM ALL VIEWS -
Q) S
B STANDARD
_ — — BRACKET _ _ —
OPTIONAL CORNER FEET OPTIONAL CORNER BRACKETS
PARTS INCLUDED \ 10.75 / PARTS INCLUDED
P/N Qty. Description P/N Qty. Description
1306 4 Mounting Corner Feet 1355 4 Mounting Corner Bracket
6028 4 SS #10 X 5/8" Pan Combo H/L Screw 6028 4 SS #10 X 5/8" Pan Combo H/L Screw
4X ¢ 33 FOR 12.70
9.63 1/4" SCREW
| g5 4X® 29 FOR 5 5h 0
' / 1/4" SCREW : :
=) | T
O, O,
&
9.48 10.70
— + — - + —
8.73 9.16 5.19

)
0

O |
CORNER BRACKET 11.16 1071172019
8.78 CORNER FEET ~ 2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7200T Top Panel Kit for

Secerenic enenies. 352 HL, 342HL, 352HS, 342HS, 352S and 342S

10.04

/ R.35
® e

TOP REMOVED FOR CLARITY
FROM THIS VIEW

50@:@0

4X @ .20 THRU

L

9.56 |

OPTIONAL ACCESSORY

]
Aq
e

PARTS INCLUDED

P/N

Qty.
1

Description

72040

Top Aluminum Panel

6029

4

SS #10 X 3/8" Pan HL Screw

10/11/2019

2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72040 AP-1 Top Alum Panel
Siectrenic Enclosures. 352HL, 342HL, 352HS, 342HS, 352S and 342S

10.04

O)

\Q

9.56

R.35

/ 4PLC'S

@ .20 THRU
4PLC'S

-

.06

2/24/2020

2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SEnpAc7ZOOB Bottom Panel Kit for
Siectronic Enclosures 35D H| . 342HL, 352HS, 342HS, 352S and 342S

/ 4X @ .20 THRU

TOP REMOVED FOR
CLARITY FROM THIS VIEW

8.25

r .06

o

OPTIONAL ACCESSORY

PARTS INCLUDED

P/N Qty. Description
72000 1 Bottom Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw

10/11/2019

2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72000 AP-3 Bottom Alum Panel

Secerenic enclesies 352HL, 342HL, 352HS, 342HS, 352S and 342S

8.75

@ .20 THRU
06
/ 4pLC'S Ajr

R.06
4PLC'S

8.25

2/24/2020

2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7200TH Hinged Top Panel Kit for
Siectronic Enclosures. 35D H | 342HL, 352HS, 342HS, 352S and 342S

8.16 R.13
‘ ~—1.32 /4x® .20 THRU
7 - i
71 @ ﬁﬁ_ Fii@
’ & o TOP REMOVED FOR
CLARITY FROM THIS VIEW
3.11
8.14 - - - - - - 6.94
3.83
() (1)
W (N7 OPTIONAL ACCESSORY
\ R.35
9.56
10.04
Parts Included
P/N Qty. Description

72020
06 6029
. 6030
== ==y |

* 6028
1307
1308

1309

Hinged Top Aluminum Panel
SS #10 X 3/8" Pan HL Screw
SS #10 X 3/8" Pan Combo H/L Screw
SS #10-32 X1/8" Nut
SS #10 X 5/8" Pan Combo H/L Screw
Hinge Pin
Panel Hinge A
Panel Hinge B

NN NN [N =

10/11/2019
2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72020 AP-2 Hinged Alum Panel
Siectronic Enclosures. 35D 342HL, 352HS, 342HS, 352S and 342S

8.16

~—1.32

T
i

3.11

R.06
4 PLC'S

R.13

N 2 PLC'S
® .20 THRU
" 4PLC'S

r_—

9.56

10.04

L

.06

J
XR.Q)S

2PLC'S

2/24/2020
2009 Wright Ave. La Verne, CA 91750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7200HP Hinged Top Plastic Panel Kit for

Seseronic enclosires. 352HL, 342HL, 352HS, 34

2HS, 352S and 342S

.10
A<_ 02
J \
TOP REMOVED FOR
CLARITY FROM THIS VIEW
B
e * J 7.89
8.19
/ OPTIONAL ACCESSORY
®
AL ~ 8 45— SECTION
0.88 s A-A
10.12
" U “ H P/N Qty. Parts InCIBg;eccrjiption
& ] SECTION 7133012; i HingedHTop PIaLstif;: Panel
0.82 B-B 311 | 1 Hir|1nggee-—Rith
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

10/11/2019
2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72021 Hinged Top Plastic Panel
Blectronic Enclesures. 32|  342HL, 352HS, 342HS, 352S and 342S

/

<

®.21
2PLC'S

I 8.19
|
|
! 3.82
l
o\ |
E<J 84X 45°
4PLC'S
9.88
10.12
[ L 1
SECTION
9.82 F-F
SCALE1:1

— =— 10

7.89
.02
RECESS
—=— 57 |=—
SECTION
E-E
SCALE1:1

2/24/2020

2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




